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£ round | F 4RSS Ttem | S5 {E{E Buyer Value [BRA(EIE Price |8 /7 A Seller Cost
1 1 7B Refund 100
1 2 ’E Refund 90
1 3 7B Refund 80
1 4 110 70 60
1 5 30 65 50
1 6 100 30 70
1 ] 120 70 40
1 8 7B Refund 90
1 9 90 70 40
1 10 & Refund 100
£ round | idRSE Ttem | B 5 {E{E Buyer Value [pRA(EE Price |& 7 A Seller Cost
2 1 B Refund 920
2 2 130 85 50
2 3 130 80 40
2 4 B Refund 100
2 5 B Refund 80
2 6 90 80 40
2 7 110 75 60
2 3 120 80 70
2 9 B Refund 100
2 10 7B Refund 90
[6] & round |BE 4R 5% Ttem | = )7 {E{E Buyer Value [BRAT{ERE Price |8 /54 Seller Cost
3 1 ’E Refund 80
3 2 B Refund 50
3 3 120 100 40
3 4 & Refund 90
3 5 & Refund 70
3 6 130 100 90
3 7 ’E Refund 100
3 3 130 100 40
3 9 110 100 60
3 10 B Refund 100
[B] & round |7 L 4R Ttem | B 75 (E{H Buyer Value |pRAC{ERE Price |8 774 Seller Cost
4 1 130 50 40
4 2 120 50 40
4 3 7B Refund 100
4 4 8 Refund 90
4 5 7B Refund 100
4 6 8 Refund 70
4 1 8 Refund 90
4 8 90 50 50
4 9
4 0
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